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College Algebra — Final Exam i ; .
MAT 140C, Fall 202'13—-1) Ivansic | g, Shaw}ﬂ%‘
L. {Spts} The following are graphs ol" :gasm functions. ’fﬂ;rit.e the a;g’ggnnn c_f tlie grah e 5 ; .
" under each one. - O '

— H&;}ph} Find the equation of the line (in form y = ma:+ b) that is perpendicular to the
line 2z — 41; 5 and passes thmugh thc point (1, —1). Draw both lines.
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6. (6pts) The graph of a function f is given.
a) Is this function one-to-one? Justify.
b) If the function is nne-tn-nne find the gl:aﬁh
of £, abelmg the relevant pamts
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7. (10pts)

and label all the

?.'4 ‘.

TFW} is dra.wn b-elcrw ﬁd‘the grﬂahs of — f{;-;—
evant points, "q“ _
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{ (lﬂpts] madratm h.mctmn f (#)=22+ 2.1:=f- 15 is gmah Do the foﬂMg without
using the calculator. : gt .

a) Find the r- and y-intercepts of ils graph, if Bm R &

b) Find the vertex of the graph. . = :

c) Sketch the graph of the function.
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9. (5pts) Write as a sum and,r‘or d;ﬁerence of
Simplify if pus-hle
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11. (20pts) The polynomial P(z) = z* — 91.' is given (answer with 6 decimals accura%e
a) What is the end behavior of th .
b) Factor the pcrl}'nﬂmml tu ﬁnd all the zeros and their multiplicities. Find thevy-mternept 7
~c) Determine algebraically whether the function is odd, even, or neither. ‘-\
g Jse the graphing calculator along with a) and h] to sketch the graph of P (ves, on paper!). T
e ]irour conclusion from c) by stating 5jrmmetry ;
f) Fmd all the turmng points (i.e., local maxima and mmm}@,]
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=14 (14pts) Becauﬁ she was afraid ‘be late, Fiona rushed. tu a concert and got there in3d
hours. On the way back, she drove S5mphislower, so 1t1;uok her a quarter of an huur longer.

a) How fast did Fiona drive to and from- cq% -
b) How far did she drive to the concert? a Eﬂﬁ% = F’ |
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15. (l4pts) A logistics company is huihjingﬁ%mehouse whose fi floo: rpls below. It has
.. two entrances of width 20 feet. It has budgeted enough money to bu d 120 ) feet Gl'f Wﬂ-u.ﬁ,

am:l its goal EW the total area of the warehouse.
a) Express the total area of the warehonse as a function of the length of one of the sides. ?

"h-

What is the domain of this function? ' -

b) Graph the function in order to m: maximum (no need for the graphmg‘nﬁlculatur
— you should already know -ﬂﬁt the graph looks like). What are the dimensions of the
marehouse that has the biggest possible total area, and what is the bi “possible total
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- 16. (12pts) The pop

that 1t has gro%n aommdlh
Graph it on papq *m

b) Find the pred_lctad population in ﬁia year 2023.
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Bonus {l{lpts} Find the Bquanun of a parabola whose vertex is (3, —7) and whose y-in
is 5. One way to approach this is to w;ite y=az’+bx+ec and’ﬁgd a b and ¢ based on the
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